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5. As part of a promotional scheme in Taipei and Kaohsiung Metropolitan Area, a
company making cake mixes will award a grand prize of NT$ 500,000 (and several
other prizes) to persons sending in their names on entry blanks, with the option of also
including a box top of one of the company’s products. The breakdown of the 60,000
entries which they received is as shown in the following table:

With Box Top ‘Without Box
Top
Taipei 32,000 11,000
Kaoshiung 8,000 9,000
Total 40,000 ‘ 20,000
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If the winner of the grand award is chosen by lot, T represents the event that it will be

won by an entry from Taipei, and B represents the event that it will be won by an entry

which included a box top, please find each of the following probabilities:

(1), P(T) and P (B)

(2), P (T’NB’) and P (TNB)

(3), Please specify the conditional probability P (T/B) and P (B’/T"), interpret their
economic intuition respectively, and verify the result by using the data from the

previous table.
(4), Please discuss the Bayes’ Rule to determine P (B/T) by employing the prev1ous

results.
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